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QUESTION 1

A customer is considering converged and hyper-converged options for its infrastructure refresh. As part of the refresh,
the customer will migrate its current ERP system to SAP HANA.

What should the technical specialist highlight?

A. SAP HANA is only supported on appliance based infrastructures

B. IBM VersaStack can be configured with very low latency

C. IBM VersaStack is the recommended option when running SAP HANA on Power 8

D. SAP HANA is an in-memory database and doesn\\'t require high performance storage

Correct Answer: D

QUESTION 2

A client requires extreme high-resilience for critical data and is considering an IBM Storwize V7000 solution. The client
is concerned with loss of access to a control enclosure.

What must be used for this architecture?
A. Transparent cloud tiering

B. Global Mirror with change volumes

C. Volume mirroring on the controller

D. HyperSwap

Correct Answer: B

QUESTION 3

A client requires a full disaster recovery solution be created between two data centers without direct fibre
channel connection.

Which feature should the technical specialist recommend to the customer?

A. Native IP Replication

B. vSAN

C. HyperSwap

D. Volume mirroring

Correct Answer: D
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QUESTION 4

A customer has outgrown its IBM System Storage DS3524 and asks for a recommendation on an IBM storage system
that can virtualize and continue to use the existing storage system.

Which solution should the technical specialist recommend as the lowest entry cost?
A. IBM Storwize V7000
B. IBM Storwize V5020
C. IBM Storwize V5030
D. IBM Storwize V5010

Correct Answer: A

QUESTION 5

A customer has a single, non-IBM storage system with 100 drives of the same capacity. The storage
administrators spend most of their time trying to eliminate hot spots. The customer is considering an IBM
Storwize V5020 purchase with approximately the same number of drives.

Which IBM Storwize feature helps resolve these issues?

A. A single storage pool

B. Volume migration

C. HyperSwap

D. Auto-storage pool balancing

Correct Answer: B
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